
MATH170U35 
Probability 
Question 7 

 
Refer to the table to state the theoretical possibility of rolling any of the sums that occur. Write 
the probability as a fraction. The first sum of two is completed as an example. State the rest of 
the sums and their theoretical probability.  
 
      a.  P (two) = 1/18 
     b.  P (three) 
      c.  P (four) 
      d.  P (five) 
      e.  P (six) 
      f.  P (seven) 
     g. P (eight) 
     h. P (nine) 
     i.  P (ten) 
    j.  P (eleven) 
    k. P (twelve) 
 

Possible Outcomes When Rolling Two Die 
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